Splashlearn

Shopping Addition

Solve the following word problems.

If a shirt costs $24.5 and a pair of jeans costs
$35.7, how much will you spend in total?

You bought a dress for $45.6 and a pair of shoes
for $32.1. How much did you spend in total?

You bought a book for $12.3 and a pen for $1.2.
How much did you spend in total?

If you bought a bag for $56.7 and a hat for $12.3,
how much did you spend in total?

You bought a jacket for $65.4 and a scarf for $15.6.
How much did you spend in total?

If a toy costs $14.2 and a game costs $25.7, how
much will you spend in total?

You bought a pair of earrings for $32.5 and a
necklace for $45.6. How much did you spend in
total?

If you bought a watch for $85.7 and a bracelet for
$14.3, how much did you spend in total?

You bought a pair of sunglasses for $25.4 and a
belt for $34.6. How much did you spend in total?

10 If a perfume costs $45.3 and a lotion costs $24.7,
‘bhow much will you spend in total?
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